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===¯̄̄KKK>>> 3²¡þ�½ 60�:, Ù¥?¿n:Ø��. y²: �±rù 60

�:©¤ 20�“üüØ�”�n:| {Ai, Bi, Ci}(1 ≤ i ≤ 20), ¦�
20⋂
i=1

4AiBiCi 6= ∅,

ùp4AiBiCi L«²¡þ4AiBiCi �SÜ9>.þ�¤k:�¤�:8.

�Ö�K8, B���áÚ.§k²w�°4½n�µ, q��Iy²?Û

3�à84AiBiCi,4AjBjCj,4AkBkCk ����=�.�¯K´, K¥vk�

ÑäN�n�/, 
I�·�ò®�:©|, §aqu8Ü�y©, Ï
§��

þáu�E¯K.��­��´, 4u°4½n��½(�, )K¿ØU¼�¤

õ, I�òÙ·�ÿ2, �U��8I, ù´�K���<�?.�,, �N·�

vké�Ð�g´, ÖöØ�ÁÁ, UÄ���E 20�n�/, ¦?Û 3�n�

/kú�:.

�)���|©, Ö��Ééu.�©Áã��Ù)��&¢L§, ¿N�

¾��)�L§¥Ñy�����Õ¦.

===ggg ´́́©©©ÛÛÛ>>> )K�'�, ´æ^g�üÑ, òn:8*¿� r-:

8: �E 20 � r-:8�4� (à�>.9SÜ¤k:�¤�8Ü¡�4�)

Gi(1 ≤ i ≤ 20), ¦�kú�:, Ù¥ r�½.

d°4½n, ù�I?Û 3�4� Gi����, ?
�I?Û 3� r-:8

����.

�d, k�Ä A ∩B 6=∅�¿©^�.dN½�n��,

|A ∩B| = |A|+ |B| − |A ∪B|,
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¤±A∩B 6= ∅���¿©^�´ |A|+ |B|−|A∪B| > 0,= |A|+ |B| > |A∪B|.

?
, A ∩B ∩ C 6= ∅ ���¿©^�´ |A ∩B|+ |C| > |A ∪B ∪ C|.

�A,B,CÑ´K� 60�:� r-f8,K |A∪B∪C| ≤ 60,¤±A∩B∩C 6=

∅���¿©^�´ |A ∩B|+ |C| > 60.
 |C| = r, ¤± |A ∩B| > 60− r, =

|A|+ |B| > |A ∪B|+ 60− r.

25¿� |A ∪ B| ≤ 60, ¤±�I |A| + |B| > 120 − r, = 2r > 120 − r, )�

r > 40, � r = 41=�.

±þ¢Sþy²
, K� 60�:� 41�f8¥?Û 3�Ñ��.

�y3�ØU|^°4½n, Ï�“41�f8”´lÑ:8.�
òÙC¤

à8, �	Ù4�=�.

P 41-:8Gi�à�>.9ÙSÜ:�8Ü� Ωi (1 ≤ i ≤ 20), KGi ⊆ Ωi,


 Gi(1 ≤ i ≤ 20)¥?Û 3�Ñ��, l
 Ωi(1 ≤ i ≤ 20)¥?Û 3�Ñ��.

d°4½n, ¤k
20⋂
i=1

Ωi 6= ∅.

ù�)K8I���$�: à8 Ωi¿�4AiBiCi (>.9SÜ:�¤�8

Ü).·�Ï"ò
20⋂
i=1

Ωi 6= ∅`z�
20⋂
i=1

4AiBiCi 6= ∅ .ùL2�gæ^g�ü

Ñ, �	¤k� 41:8�4�, Ï�= 20�4� Ωi(1 ≤ i ≤ 20)�7Ué�¤

I�
20⋂
i=1

4AiBiCi 6= ∅.

�	K� 60�:�¤k 41�f8, �km = C41
60�.dþ¤y, ùm�à

8¥?Û 3�Ñ��, l

m⋂
i=1

Ωi 6= ∅.

�é�à84AiBiCi(1 ≤ i ≤ 20), ¦
20⋂
i=1

4AiBiCi 6= ∅,N´��, 4z�

à84AiBiCi ÑCX��à8 Ωi(1 ≤ i ≤ 20).ù�, m�à8 Ωi(1 ≤ i ≤ m)

�ú�:Ò´ 20�à84AiBiCi(1 ≤ i ≤ 20)�ú�:.

�ù´Ã{¢y�, ·�òÙfz�: ·�é®�:?Ò, ¦z�n�

4AiBiCi(1 ≤ i ≤ 20)?Ûü>Ñ“ª�” (l��º:^=�1nº:) 41�®

�:.

� P ´¤kà8 Ωi(1 ≤ i ≤ m)�ú�:, �l P �C���®�:� P1,

��� PP1,Kdu®�:¥Ã 3:��, ��þ�õk 2�®�:.

����7: P U_����^=�±, �g�L�®�:©O�

P1, P2, · · ·, P60,Ù¥5½, ���Ó�ª� 2�:�, l P �C�:�eI�u

l P ���:�eI.AO/, XJ P �´®�:, KP P60 = P.

�
¦z�n�/ 4i = (PiPjPk )�?Ûü>Ñ“Ü¿ª�”41�®�:,
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�I4i(1 ≤ i ≤ 20)�nº:�����eI�: k − i = 40.

d	, �
¦z�n�/ 4i = (PiPjPk)(1 ≤ i ≤ 20)¥?Ûü�vkú

�º:, ��Ùº:eI j = f(i), k = g(i).� i�H 1, 2, · · ·, 20�, f(i)�H

21, 22, · · ·, 40; g(i)�H 41, 42, · · ·, 60,n�eI i, j, k Ü¿�¤ 1, 2, · · ·, 60��

�ü�.

dd��, �4i = (PiPi+20Pi+40)(1 ≤ i ≤ 20)=�.

e¡y²: e P ´¤kà8 Ωi(1 ≤ i ≤ m)�ú�:, K

P ∈ 4PiPi+20Pi+40(1 ≤ i ≤ 20).

^�y{, ��3 1 ≤ i ≤ 20, ¦ P /∈ à8 4PiPi+20Pi+40, �,k P /∈

{Pi, Pi+20, Pi+40}.

|^ 4PiPi+20Pi+40 �à5, �^��?1©� (3���ý).u´, �3

L P ��� L, ¦à84PiPi+20Pi+40  u L �Ó�ý.���� L7: P U

_����^=, l PPi =�PP i+40 �, �â®�:�üS5K, Ùª��®

�:�g� Pi, Pi+1, . . ., Pi+40.

þã 41�®�:Ñ u L�Ó�ý, l
ù 41�:�à�>.9ÙS

Ü:�¤�à8 Ωi(1 ≤ i ≤ m)  u L �Ó�ý. �d P �À�5K, Ak

P ∈ Ωi,gñ.

===555>>> þãy²���ã�3¦É. ¦+�3L P ��� L, ¦à8

4PiPi+20 Pi+40 u L�Ó�ý.��7 L7: P U_����^=,l PPi=

� PPi+40�, ª�� 41�®�:Ñ u L�Ó�ý.�~Xeã¤«:

·��,uy
þã¦É, �£uvk)û�{.�5, Y�u�Ç�Ñ


���{�?U�Y, Ù?nÃ{4�|©: '�´ò4�=z�m� (aqu
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Ø�ªU?�î�Ø�ª)­#?1�O.

|ÜAÛ¥, êâ�[�U?, ~~åX�'­���^, ù�U?�O�

Ã{Ò´��;.�~f.

Äk��Ä�´, XÛU?c¡����8�O.d

|A ∩B| = |A|+ |B| − |A ∪B| ≥ 41 + 41− 60 = 22,

®íÑ A ∩B ∩ C 6= ∅.��g�, ù��O�U?� |A ∩B ∩ C| ≥ 3.

¢Sþ, Ï�

|A ∩B| = |A|+ |B| − |A ∪B| ≥ 41 + 41− 60 = 22,

¤± |A ∩B| ≤ 60− 22 = 38,?


|A ∩B ∩ C| ≥ |C| − |A ∩B| ≥ 41− 38 = 3.

ù�êâ“3”%k­�¿Â——3�®�:)¤��n�/, ?Ûn�à�

���3SÜ«�! ù´ò4�U?�m��cJ.

Ï�?Ûn�à���¥k 3�®�:�¤n�/, u´?Û 3�à�S

Ü�����, dp4½n, ¤kà�SÜ���� (¹k��þãn�/�S

Ü) , Ù�´����5�m8.

60�:üüë�, �kk�^��, ØUCXþãm8, �3Tm8¥À�

�:P, ¦ÙØ3?Ûü�®�:(½���þ (�,P�ÒØ´®�:).

e¡�yù�À��: P áuz�4PiPi+20Pi+40,ù´Y�±¤�, æ^

�y{=�.

b��3 1 ≤ i ≤ 20, ¦ P /∈ 4PiPi+20Pi+40, K�3L P ��� L, ¦

4PiPi+20 Pi+40  u L�Ó�ý.d�, �� LØ�¹4PiPi+20Pi+40 �@�ý

�õ�¹
4PiPi+20Pi+40 ��üº:mUcã��^=¤ª�� 19�:, l


 L�¹ 4PiPi+20Pi+40 �@�ý��¹k 41�®�:, �ù 41�:�à�

SÜm«�� Ωi(1 ≤ i ≤ m).d P �À�5K,Ak P ∈ Ωi,gñ.

¤± P ´ 20�4PiPi+20Pi+40(1 ≤ i ≤ 20)�ú�:,·K¼y.

===###���>>>Pm = C41
60,é 1 ≤ i ≤ m, �z 41�®�:�à�SÜm«��

Ωi.

é?¿ 3� 41:8 A , B , C,k

|A ∩B| = |A|+ |B| − |A ∪B| ≥ 41 + 41− 60 = 22,

¤± |A ∩B| ≤ 60− 22 = 38,?
 |A ∩B ∩ C| = |C| − |A ∩B| ≥ 41− 38 = 3.
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ù`²?Ûn�à���¥¹k 3�®�:�¤�n�/, l
?Û 3�

m8 Ωi(1 ≤ i ≤ m)����� (¹k��þãn�/�SÜ), dp4½n, ¤

km�m8����, Ù�´����5�m8.

60�:/¤�k�^��, ØUCXþãm8, �3Tm8¥À��: P ,

¦ÙØ3?Ûü�®�:(½���þ.± P �à:���, 7: P U_��

��^=�±, K?Û�����õÏL��®�:, �Ù�L�®�:�g

� P1, P2, · · ·, P60.

b��3 1 ≤ i ≤ 20, ¦ P /∈ 4PiPi+20Pi+40, K�3L P ��� L, ¦

4PiPi+20 Pi+40  u L�Ó�ý.d�, �� LØ�¹4PiPi+20Pi+40 �@�ý

�õ�¹
4PiPi+20Pi+40 ��üº:mUcã��^=¤ª�� 19�:, l


 L�¹ 4PiPi+20Pi+40 �@�ý��¹k 41�®�:, �ù 41�:�à�

SÜm«�� Ωi(1 ≤ i ≤ m).d P �À�5K, Ak P ∈ Ωi,gñ.

¤± P ´ 20�4PiPi+20Pi+40(1 ≤ i ≤ 20)�ú�:, ·K¼y. �
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